

Ajouter Deux Fractions Mixtes (G)

Nom: _____

Date: _____

Note: _____

Calculez chaque somme.

$$1. \quad 1\frac{5}{7} + 1\frac{6}{14} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$$

$$2. \quad 1\frac{3}{8} + 2\frac{1}{2} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---}$$

$$3. \quad 1\frac{1}{2} + 1\frac{1}{4} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---}$$

$$4. \quad 2\frac{2}{7} + 2\frac{9}{14} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---}$$

$$5. \quad 1\frac{6}{7} + 1\frac{3}{14} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---}$$

$$6. \quad 2\frac{1}{4} + 2\frac{3}{20} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$$

$$7. \quad 2\frac{7}{8} + 1\frac{2}{16} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$$

$$8. \quad 1\frac{1}{2} + 1\frac{2}{12} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$$

$$9. \quad 2\frac{1}{4} + 1\frac{9}{20} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---} = \text{---}$$

$$10. \quad 3\frac{3}{7} + 1\frac{3}{14} = \text{---} + \text{---} = \text{---} + \text{---} = \text{---} = \text{---}$$

Ajouter Deux Fractions Mixtes (G) Réponses

Nom: _____

Date: _____

Note: _____

Calculez chaque somme.

$$1. \quad 1\frac{5}{7} + 1\frac{6}{14} = \frac{12}{7} + \frac{20}{14} = \frac{24}{14} + \frac{20}{14} = \frac{44}{14} = \frac{22}{7} = 3\frac{1}{7}$$

$$2. \quad 1\frac{3}{8} + 2\frac{1}{2} = \frac{11}{8} + \frac{5}{2} = \frac{11}{8} + \frac{20}{8} = \frac{31}{8} = 3\frac{7}{8}$$

$$3. \quad 1\frac{1}{2} + 1\frac{1}{4} = \frac{3}{2} + \frac{5}{4} = \frac{6}{4} + \frac{5}{4} = \frac{11}{4} = 2\frac{3}{4}$$

$$4. \quad 2\frac{2}{7} + 2\frac{9}{14} = \frac{16}{7} + \frac{37}{14} = \frac{32}{14} + \frac{37}{14} = \frac{69}{14} = 4\frac{13}{14}$$

$$5. \quad 1\frac{6}{7} + 1\frac{3}{14} = \frac{13}{7} + \frac{17}{14} = \frac{26}{14} + \frac{17}{14} = \frac{43}{14} = 3\frac{1}{14}$$

$$6. \quad 2\frac{1}{4} + 2\frac{3}{20} = \frac{9}{4} + \frac{43}{20} = \frac{45}{20} + \frac{43}{20} = \frac{88}{20} = \frac{22}{5} = 4\frac{2}{5}$$

$$7. \quad 2\frac{7}{8} + 1\frac{2}{16} = \frac{23}{8} + \frac{18}{16} = \frac{46}{16} + \frac{18}{16} = \frac{64}{16} = \frac{4}{1} = 4$$

$$8. \quad 1\frac{1}{2} + 1\frac{2}{12} = \frac{3}{2} + \frac{14}{12} = \frac{18}{12} + \frac{14}{12} = \frac{32}{12} = \frac{8}{3} = 2\frac{2}{3}$$

$$9. \quad 2\frac{1}{4} + 1\frac{9}{20} = \frac{9}{4} + \frac{29}{20} = \frac{45}{20} + \frac{29}{20} = \frac{74}{20} = \frac{37}{10} = 3\frac{7}{10}$$

$$10. \quad 3\frac{3}{7} + 1\frac{3}{14} = \frac{24}{7} + \frac{17}{14} = \frac{48}{14} + \frac{17}{14} = \frac{65}{14} = 4\frac{9}{14}$$